
Sheet1

Page 1

Part Number Part Description QTY required

20 Low Profile Screws M5-25mm 6
65 Aluminum Spacers-20mm 8
90 Aluminum Spacers-6mm 15
95 Aluminum Spacers-40mm 8

125 Low Profile Screws M5-30mm 13
135 Low Profile Screws M5-40mm 4
155 1/4" x 8mm Flexible Coupling 4
175 Aluminum Spacers-3mm 14
185 Slot Washer - 15x5x2mm 12
225 Aluminum Spacers-9mm 12
226 Eccentric Spacer-6mm 15
465 30
485 Double L Bracket 2
490 Cast Corner Bracket 26
536 99
540 Black Angle Corner Connector 4
610 90 Degree Joining Plate 10

740 6
750 Low Profile Screws M5-20mm 46
760 Low Profile Screws M5-55mm 8
765 Low Profile Screws M5-60mm 16
780 8
835 8mm Shim 8
840 Lock Collar-8mm 8
878 Low Profile Screws M5-10mm 34
992 Low Profile Screws M5-15mm 24
946 Low Profile Screws M5-8mm 64
965 C-Beam™ End Mount 8
990 Router/Spindle Mount 1

1055 Anti-Backlash Nut Block 1
for 8mm Metric Acme Lead Screw

2030 7
05-LP C-Beam™ Linear Rail-250mm 3

15-LP 1

20-LP 2

25-LP 1
75-LP C-Beam™ Linear Rail-1000mm 3
200-LP V-Slot® 20x60 Linear Rail-1000mm 4
195-LP V-Slot® 20x40 Linear Rail-1000mm 1

596 4

Xtreme Solid V Wheel™ Kit

Tee Nuts 

Nut Block for 8mm Metric Acme 
Lead Screw

Ball Bearing 688Z 8x16x5 

C-Beam™ Gantry Plate - Xlarge

8mm Metric Acme Lead Screw-
1000mm
8mm Metric Acme Lead Screw-
500mm
8mm Metric Acme Lead Screw-
250mm

NEMA 23 Stepper Motor High 
Torque Series 


	Sheet1

